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. Eachyear, the New York City Marathon which is 42, km, is run by fhousands of
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4 feet long, 10 feet high, and 9 inches

LA eree for i
thick. How many cubic yards should he order? V= lwh

that deer need tohave
ivive. If the size of the preserve is 42 hm long and 560 dekameters wide, how
support? & = lw

3 ippy rean
that should be kept in this aquarium? V=lwh

shown.
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2 T 0,000 mil How many y
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UL~Day3
1) How many minutes are in 3 years?

2) How many feet are in 2 miles?
10)How many minutes n the month of October?

4) How many cups are in 4 gallons?

5) How many ounces are in 2 gallons?
6 156 pound: e 2
weight to ilograms. period i one week?
” 5 ki B
inches per day do you travel?
D) @ b how
254 centimeters — 1 inch) many miles per day does the turle ravel?
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U1~ Day3 Dimensional Analysis Homework
3. mass of 2.25 kil

weigh?

4. Afamily pool holds How

5. Sity miles per hour is how many feet per minute?

6 Trent purchases 44 auros worthof s in France. If$1US. = 0,678
s.find the cost of the. S deor. Rount ot o

7. Asmall herd of
herd consume in a year?

Jan 3-3:11 PM



wk2 alg 1st.notebook January 07, 2019

U1 ~Day2 Unit Conversions & Dimensional Analysis HW U1~ Day2 Unit Conversions & Dimensional Analysis HW
Name 11, You have the
with the following instructions: "Take 1 drop per 10 Ibs. of body weight per day divided into 4
o doses until i g
1 mile ~ 5280 feet Tyard - 3 feet
1 km 0.6 miles Llight second ~ 300,000,000 meters
1 askg art = 0.946 fters

2=22]bs = 045ke
1mis - 2.2 mileshour 1 foot 12 inches Vinch - 2.54 cm -~ 25.4 mm

L83

s into foot 8. 36 cm/sec to feet/min

12.You' 15 eat 4 slices. You call
up the pizza place and learn that each pizza will cost you $14.78 and it will be cut into 12 slices.
How much is the pizza going to cost you? You only have $70. Will you have enough money?

2. 165 pounds into kilograms

3. 5,100 inches to miles 9. 109 g/mLtolbs/qt

13. Every three times I clean my bedroom, my mother makes me an apple pie. T cleaned my
4. 16 weeks to hours ey e e e

‘you for cleaning your bedroom? Aren' there child labor laws? To make up for that injustice, you
‘may have this very easy problem.)

5. S4yardstocm 10.32 ft/sec to meters/sec

6. 19inches to feet

141 3 3 pens. If 3
d at $1.88 per package, whatis pens?

7. 840in to cm,
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Alg1-Day4 Equations ~
Addition Subtraction
January 8, 2019, Tuesday
1) How many ounces are in 2 gallons? ~
Algebraic
Terms
Multiplication o Division
Equations and Inequalities
2) A person weighs 156 pounds, convert their
weight to kilograms.
Interpret Language in Math Expressions
Definitions:
Vocabulary Definition Examples
3) How many centimeters are in 3.5 kilometers? Algebraic  mathematical phrase that can contain odinary numbers,
aiables (ke oy and apraors (e ac, sutrcs,
Expression multiply, and divide)
Variable syl for arumber e dort knowyet
e cither s sl b o variale,or mumbers s
Term varisbles kil together Terms e separated by + o -
.
e varabien Tond v rponent ich e
o | e o bt by
by, such es "5"
Coeffcient A\ Cosfcent s b e o iy  arble
g1 Day4 Translat Equations ~ Vocabulary Notes Alg1-Day4 Translating Expressions & Equations ~ Vocabulary Notes

ber of parts in inventory, p, minus | 10.Jerry puts 5% of the amount he makes per.

Exponent s hows many times 0 us tha number ina mulplication 54 parts sold today is 320. week into a retirement account, . He is paid
$11.00 per hour and works 40 hours per week
fora certain number of weeks, w. Write an

Base The number that is going Lo be raised to a power. equation to help him find out how much he puts

into his reirement account.

«  constan i umberonits o, o soetimes et
Constant such a5 3, b o ¢ o stand for & fived nume 4. One hundred seeds divided by 5 rows equals.
 number of seeds per row.

Factors umbars ou can multply ogether £ getancther number
P expresion (PEV/5)
5. His base pay of $200 increased by his 1. A furniture store advertises a 40% off

commission, ,is $500. liquidation sale on al tems. What would the

Examples: sale price, p, be on a §2530 dining room set?

Coeffcients Exponents Constants
3x+5
PR This month' sales of 2300 are double
January’s sales of
B4 x4 6x

e
‘s,‘m:ad:::,e.;:ﬂ;.m be added. The words “is” or “are” as well as “equal(s)” signal that you I — — T i
blems. DONOT certain price, x. Today the item s selling for
problems yet. 25% off the regular price. A sales tax of 6% is
. Triple the ariginal number, n, is 2700. 9. Fluffy, Spot, and Skippy have a combined age added to the equation to find the final price, .
in dog years of 91. Spot is 14 years younger

6 years older than Fluffy.
in dog years?

ippy
What is Fluffy's age,
8. We started with x

5 moved away, we had 42 left.

ber of students, When
1

2. Four times the difference of a number, x, and
2is greater than 20.

Jan 3-3:16 PM Jan 3-3:16 PM
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‘Three plus a number.
Four more than a number.

Five increased by a number.

Translating by Keywords -
Operation Keywords Sentence Translated
Add ‘The sum of two and a number.

g g

E &
x& |5+

& 8

The difference of two and a number.
Three minus a number.

Fourless than a number

Anumber decreased by five.

The product of two and a number.
Three times a number.

A number multiplied by four.

Double a number.

Divide

o}

‘The quotient of a number and two.
‘The quotient of two and a number.
Anumber divided by three.

Half of a number.

Equal

Two more than a number equals 5.

When a number is divided by 2 and
decreased by 3, the resultis 2.

Twice the sum of a number and 315 10.

Jan 3-3:17 PM

7. Three more thantice a numbers 15,
8. Fiveimes the sum o two and a number s 30

9. Tho quotient f throo lss than  number and sx quals 2.
10, Two more than th product of number and § is 42,

11 A nmumberisincreased by seven, then doubled. The resultis 10

partc e

12, Anne has xapples and Bobby has three more apples than Anze.
Bobbyhas apples.

13, Charllo s years old. Denise s seven years older than hlfis age.

January 9, 2019, Wednesday

Jan 3-3:18 PM
P amin i St

Monomials
© Amonomial is:

Polynomials
® i or F 1

© An cxample of a polynomial in o variable,  would be X' + 66 +12x +

© How many

Degree
© The exponentin

of apalynomial in one variable.

© Example: The dogree of 9-7x—4x" is because isthe
exponent in the polynomial

© Example: Find the degroe of the following polynomial: x* +6x +7x° +12x

Jan 3-3:19 PM

Adding/Subtracting Po
Simplify each sum.

1) (62 -8) + (422 - 427)

Simplify each difference.

2) (8p° ~4p*~2p) +(87° -4,

3) (6+67)-(6+77) 4) (6v* +8v=5v") = (Tv-5 +20)
Maltiplying Polynomials:
L 287 4x 1 2) i 2 1D
3. Find the area of the rectangle. 4. Find the volume
7x+10 x+6
xed
4x+8

Standard Form
© The terms of form if leftto right in
order; exponent to the least.
® i first term i called the
® tandard Form, the terms of the polynomial in
order according o the. of the variables.
© Fxample: Write 9+ X - 4’ in Standard Form:
‘Special Names:
Polynomial ¥ of terms "NAME by # of terms degree 'NAME by degree
12
8
413
e
- Ax+6
vt Name.

Complete the chart below.

Loz 5 [ vonoma, | o
vomomit | RewteinsamnaForm | & S8 5 | Fnoma | Ui

S| =8 S | poymomian | b,

PR

ni

PR

4) 55°-2

i

G

7) 3w -10x + 15 + 67

8) Tx-3x*

i thsumor e

e e e e
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1L x- 1)+ (2 +3x+4)

1334401 (5 200)

12, (x4 4 7) - (5 + 5x-3)

146 30 (5 3x+ 1)

5. Gpe-2p 1 D) -7p+ )

16.(@-d+5)- (@ +d+5)

T7.(5a 1 90 - (0 1 28)

T8, (- 3y T A7 1 ¥ - (70 90y T § y)

1. 67+ 2x, whatis the.
perimeter?

2. e (3] E

the rectangle.

2L o r8xel

the
the third side of the triangle

triangle are represented by the expressions 2x” —Sx-+3 and 2x’ - 3x-+4. Find an expression for

Algebra | ~ Ul Day 5 Name

Ul Day.

Polynomial Operations

pliy cach expression.

1) @p7 +2p)+ (7p-3p7) 2 (80« 30%) ~on* ~20)

)= (5 - an)

3 (59 + p) (597~ 7p)

5) (K + 28 - 86%) - (6" - 58°) 6) [x+ 80 +4) 4 (26 +4)

7 (5v?

Bv+2)+(8v - 8) (89 ~6-3p") - (15 ~2-7p")

9) (2054 4) - (b - 5b* - 65°)

10) (- 82% 4 66) (7 26° + 268 4 (327 + S5+ )

Jan 3-3:25 PM
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Find each product.

1) 2mfam +2)

13) 6l4x* ~ 8x—4)

15) {on - )70 -2}

17) (4 3)sp-4)

19) (k+ 8)(6k + 6)

20) (o 1)on 4 6n-8)

23) (89 +8p- gt + p+3)

12) arlav-s)

14) 6K~ 6k-+ 1)

16) (55— 5Ksh-2)

1) (2p - ip+4)

20) (p-6llop )

2) (200 e -x-3)

24) (3 + 7a + 8)3a" - 50— 1)

Algebra 1 ~ U1 Day 5 Name,

Multiplying Polynomials

Find each product.

1) 2nlam +2) 2) adax-8)

3 olax-8x-4) B G -6k 1)
5 (e 1e-3) 6 (6p=7kap+3)
7 (5v-5)ex ) 8 (= 8)er-1)

o) (4 35k s 7) 10) (3 2Hsk+2)
1) (x4 7)2x - 8) 12) (e v+
1) e+ 3)ar-3) 1) (a-5)*

Jan 3-3:22 PM
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January 10, 2019, Thursday

Jan 3-3:28 PM

Algebra | ~ Ul Day 6 Name

Operations with Radicals Notes
Radicals are n SIMPLEST FORM WHEN:
: han 1

~NO fractions are under the radical
~NO radicals are in the denominator

‘Whatis the prime factorization of each number?

15 2) 98
Simplity.
3 V2 a3

o combine

them,
(ex. V2 + /2 =22, but /2 + V3 = V2 + /3 because the number under the radical is not

the'same.

Vo +3vs © 23/6-2v54

7 3320 -5 B 2354 - Vize2vsa

Simpli

together and then simpli
-
(ex.232 335 =63/10 because 2 315 6 and 2515 10)

9 415243 10) 336 3

Jan 3-3:28 PM
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1) s(s310 < 43

Practice:

Simplity:
13 V252

15 Vizs

17) Vst

19) iz

21 V235

23) 236+ 276
25) 35 - o
27) 3320 < 2445
29) 36 +2V54
31283318

235443324 s

35 Vi

334 /6)

39) V3V +3)
an (V5 +4v3)3v5 4 43)

12)

o)

16

19

20,

2)

2)

26)

(3-203-1)

er
N7
—avss

avios

Wi-V2
ENERENE)

-

V325
3327+ 2v45 Vs

Vis s

V(2 1+ 246)

V(s34 V10

January 07, 2019

January 11, 2019 Friday
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Alg1-Day7

NOTES - Rational & lrrational Numbers

Rational Numbers:

Can be expressed

Examples: -5,0,7,3/2, 026

. i - you can simplify

whichis h a1

Irrational Numbers:
i

Examples: 7,45, 7

Now, add
tionals, and irrationals with

I will be.

Complete the addition table.

5 |12 |0 |v2

5 10 |55

L whichis

‘SOMETIMES true, and which is NEVER true?

‘The sum of a rational number and a rational number is rational.

‘The sum of a rational number and an irrational number is irrational.

The sum of an

is ireation

The

L
2
3
4 The
s
B

The

Jan 3-3:31 PM

Algebra1~Day7 Rational & Irrational WS
Name

b e irrational.

W5

b)

©) 0575
& V5
) 575
0 034343434,
£) 0.248502856.

)

PIRL

2 orirrationl.

0 VIO +16
b) 2(/5+7)
9 VIV
@ V340

]

3) Which statement s true about the value of 4(v8 + 4)?
) Itis rational,

b) Itis rational, b the product of a rational and

€ Itis irrational, because the product of twa irrational

d) Itis irrational, because the product of

| irrational, or pi that
ber and . givean

exampl.

@) 140

b) R+0

Jan 3-3:32 PM

6

s, Then, write

beris. Then, write 3

notes.

ed on your

7) Determine

a) Rational + Rational
b) Rational - Rational

) Rational « Rational — Rational
d) Rational + Rational = Rational

€) Trrational + Irrational = Irrational
D) Irrational - Irrational  Irrational

&) Irvational « Irrational = Irrational

b) Trvational + Irrational = Irrational

i) Rational + Irrational = Rational
i) Rational - Irrational = Rational

k) Rational « Irrational = Rational

+ Irrational - Rational

, or nover true.
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